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INCOME AND EXPENDITURE SIMULATION INVESTMENT PLAN
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T HREES® 3,000,000
EXREYMOME-ERE FA) 85,890,000
ERETHL (FriA) 5,250,000
BTG - BiEE 5,000,000
CTHREZEIEtEMS 2,000,000
EREEA. ENY1) 2,000,000
Ha2fBAcT—=R 7,000,000
EESHA-—REEXREE—RK 4,000,000
B I7A4)0 O RT I 3,000,000(1)—Z
BIREI7AN—RO—T—= 5,000,000(')—X
ZERFPHNORAT L 1,000,000|1)—X
F IS4 —5 NA 3,000,000
F—TF A—5— 1,200,000
FBAREE(Q=vh) 1,800,000
HERHAZRI-vh ABRETF 4,000,000
REEAAL—H— 2,000,000(')—Z&
BRAR(—bkOY) 750,000
FTIRMER 1,000,000
REAM—R 1,000,000
X T(BE 300,000
EFHILT—R 5,500,000(!)—&
T D EFEEER - PCRERR 2,500,000
Hta#-EFERARE—K 4,000,000|")—R
BEERE—N(LANIES) 600,000|')—X
KEMEEES 1,000,000
EffSASE (R, #hX) 4,000,000
LE-JoE—avEAEER—R 1,200,000
ZTDMEERSE 1,000,000
RER# 200,000
TERAF-RFEER—X 1,000,000
AHEREERELERSE 4,000,000
Bl 163,190,000
IJ—XEt| 21,100,000
BREELEES| 142,090,000( ()—RE&L)
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REANEERE £ EELE
ENEfEERd 142,090,000
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R BEATRETIS 5,040,000
BREI) =K IE 6,090,000
EXAEM(BERADZRO 105,000,000
ERETREIER 10,000,000
EREEA. ZNT12) 2,000,000
KEAFKEEE 4,725,000
NMETEE 5,775,000
BEFHE(MRIREV—ILFIEED) 10,000,000
XBEE—X (BHRES) 6,820,000(")—X
MRIZEE—= REEH)—R
R REEEE 4,200,000|')—R
JE R — 13,650,000
T D EFEER - EEES 10,000,000{") —&
H&H-ERERE—K 3,000,000
REHAmM—R 1,000,000
X T(BE 300,000
BEFHILT—R 6,000,000(!)—&
FDithPCREE 500,000|") —X
BiE&E—X(LANITESE) 1,000,000[1)—R
NKARBE 300,000
EffiSASE (R, #hX) 4,000,000
LE-JnE—avEEER—RK 1,200,000
TEEREERELERSE 5,400,000
=& EAE R 1,000,000
EYBEEHEISD 31,500,000|JEE %
Bl 238,500,000
1)—XEH| 28,520,000
BREELEES| 209,980,000( () —R&L)
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REANEERE £ EELE
EXEfEERd 209,980,000
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R H( (R -BT5t) 2,800 [
(|EK-FEA) 3,300 M
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